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Note : Four possible answers A, B, C and D to each question are given. The choice which you think is correct,
fitl that circle in front of that question with Marker or Pen ink in the answer-book. Cutting or filling
two or mare circles will result in zero mark in that question,

D ¢ B A Questions / = lis A
3 ) 1 0 Lﬂ%,)’d:é_/r(yl”d’i..ﬁl:bh} Il
) The nuraber of methods to find L.C.M. are :
A - » o - - - 2
- (B2 LA LSS A
Irear i Sl J W s v M - e i( C,
Normal tine Altitude Median Tangent line A line coplanar with a cm:lfr and ‘_‘:‘L s
touches the circle at one point_only is called :
o 2 3
CeerfE =1
[ -1 R Ve {13 ) _ S ."Ji
The solutionsetofx™ =1 is:
PR S G B 4
s w .». RN @unwﬂ’fdbﬂénjg..d,ég
u:’u'\f’nl:.:v o . ) : ) :
Positive and v = 74 A point in the first quadrant [ d ol
negumive both Negative Positive deto is chzujacterized by ttie fact that both its
coordinates are :
3,3 3 3 3.3 3 - 3 _. 5
a’ +h (u-h) (a+h) a’—b a’ -dah{a-by-5b" =;
b
_ . N v | __ =
{5.-3] (5.3 (=530 | (-5.-3) Peer S x-1]=4
TP SO -Theselution'setoffx - 1|=4 is:
S s nsa | twnd | oWt el Setiind |
Rectangle Square alldogragas Polygon A polygon withrfour equal sides is called :
AN . - a g
R g e sl FO(x+3) -4
(x+ 1){x+5) (x - D{x=-9 .—1)(:,1'4—5‘5‘."‘ (x+ D {x-35) e k;‘fJ( )
oS, 57 1 Factorization of (x+3)" -4 s
2 B N i et L - ST - . q
r E; arl 2zr Area of semicircle is 1 by asid
N
LA edag s 5S¢ 6 | Amarix e mBLid gttt |
Scalar matrix | Identity mawrix | Column matrix { Row matrix | consisting of one row is called a :
F 1
i 3 | i} . c‘..li’)’:_?ugujx/_:’(fj»./
A cubic polynomial is of degree :
s 12
: | ) e 0K 12y $p?
4;)29' dpg- dpy 4;,71.3 = Pq.5Pq
H.C¥ of 1lpg,8p7g is
. N e
st g A g7 In matrices © {48 (- :'&”ux‘ru 3
(a—b) (urh)’ (e «h) atp? fa+ by a® —ab+b*y= H
. 13
v Caer Y ,\'3 L2x ¢+ ] =0 .
M L0 Loy ol ) T
o solittion o7 w20 b =0 has the solution st
AT
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Paper : Il (Essay Type) (i) 2020 Croen it o o
Time Allowed : 2.10 hours (o) tg) #2100 ¢ o
Maximum Marks : 60 60 : A#F

( PART —[ Usi2 )
12 2. Write short answers to any SIX (6) questions : : éaglﬁ /ﬂ L =iy (6){:.&:( 2

(1) Define mixed surd. -J'—‘_’_-(b.é‘/jJ(Julﬁ)b:g 6))
. ) . ) 1 1 - . ..
(11) Rationalize the denominator : - el 92 (1)

5-243 5-243 Fies

e P0) x P(yy=3y? +§+9 S Gib

(i) If P(y):3y2+§+9 _then find P(0)

(tv) Factorize : a +a-3at -3 ESE ()
(v) Define remainder théarem. _2‘_—(_.5,1/‘7&.5/&1.1»’-‘ (v)
(vi)  Factorize : b +512 &8 (Vi)
(viD  Define L.C.M. 2y Ak (viD)
(vil1) Find H.C.F. by factorization : 14a’be |, 21ab’ :é&fﬁ’"u@midf (viii)
(ix) How many ways to tind H.C.F,, -J(L'Zuffujé’;)éfé:i./(:j”(yl:k (ix)

write their names. )
12 3. Write short answers to any SIX (6) questions™; : g.:«lglif AL s (6):{4'_(}[ 3

(i) Detine linear equation and give example. -“é:dﬁmlé._é/‘?d/.;bufj ()
(ii) Solve 3(x+3)=14+x e F G
(iii)  Solve |35 +4]|=9 2 G
(1v)  Write down the methods to solve the B FE AL S i G (1)

quadratic equation.
(v) Selve by factorization xP—6x+5=90 : éfu’/:;j_u (v)
(vi) Solve : 2x? = 3x S (vi)
(vil) Detfine matrix equality. LEE LS (viD)
(viil) Find the transpose of matrix : A= :: —: } ;.’f._(-'qi’*‘/'xfl/‘{..ﬂﬁ' (viin)
ax) If 4= { zl Z} then find the -é{:"‘”u:f";’u“?{f& v :[ Z’ }: }l/’él (ix)
J . i

additive inverse ol " A T

12 4, Write short answers to any SIX (6) questions : : é.:.wzﬂ'" L =iy (6)434'..6/ 4
(i} Detine adjacent angles. ‘kailu?,;;}/ug_’!f}-u"" {D)

0

{11} What is meant by radius ol a cirele? e e ity (i)



£ "’"2(:)@ -G, ~20

+. (i) Detine incenter of the triangle. -5_4/1}?}”4"5;_«& (i) 4
(1v)  Write the equation for given triangle and :éfni&g;bwgféiﬁd{)’; (1v)
solve it .
90’
x 45 I\
(v)  Draw an equilateral 53 d‘*ﬁs’u’»z_.b_@iicubwd,u_g (v)

triangle each of whose sides is 5.3 cm.
(vi) Find the volume of u cube of a side 4 cm. w4 CL’KJZ.:(F(;KJ,Q (vi)
(vii) Define area. “Ew S (vid
(7,-2),(=2,3) &b Ll 46 (viiD
(viii) Find the distance between the points: (7,-2),(-2 ,3)

(ix) Detine collinear points, -’,é..@/'"Jwiyﬁ (x)
(PART -II #5:2 )
Note : Attempt any THREE Guestions . -é-f_-,uz..f_:,mrd :.Jf Ly
4 ab+bc+ca=11"Jsa+b+c =6 .I:’Z:((:l”‘.:gd/ @’ + b+ P ") 3
5. (@) Find the value of a? + p° +77 if a+b+c=6and ab+hc+ca=11
4 (b) Resolve into factors m® —pn® ek (L)
4 6. (a) Find H.CF. by division method : gk e 35257 (0) 6
- x? +x-1, Xt =2 +3x+ 3
4 (b) Solve zlxa { +§x L)
4 7. (a) Solve by completing the square method : :’é_&f;;@)iém}:{“ ) 7
xrx-l= 0
4 ARESE KAl (L)
(b)  Construct a square whose one side is 5 cm.
- 21
4 e a7y y;m:[s ‘J/: ) 8
2 1] ,
8. (a) If 4= s ' .then find 47" 4 .
4 (b) Solve equations, by using Cramer’s rule - :*.é])’fuit,u.:..a_;)é/{/ (_:.)
X+ 2y=13
x+3p=35
4 SR 35 F0R 112 dmus 78 dm ¢ 50 dm Ll Al (D) 9
9. (a) Find the area of triangle whose sides are 50 dm, 78 dm and 112 dm.
4 A C (7,30 0B (3.2) CAC 1 1) S er (L)
(D) Show that the points A (L ULRB3.2y,Ce7.3)are collinear,
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Note : Four possible answers A, B, C and D to each question are given. The choice which you think is correct,
filt that circle in front of that question with Marker or Pen ink in the answer-book. Cutting or filling
two or more circles will result in zero mark in that question,

D C B A Questions / =iy P
eerFx =3 |
{0} {£3} t-31} {3} ,
Solution setof | x |=3 is:
ék J”(:/f Jzﬁﬁ Jf/{'_kﬁb{l Zu_’?LﬁC@JIL&.& 2
5 Non-collinear |  €ollinear Concurrent | The altitudes of a triangle are :
. o |3
AR Bl A B A In matrices : (AB)I =7 :@ru::’b
P 4
0.1 | 0,00 | 1,0 0 | B rzid Lig
The co-ordinates of the origin are :
PEIWX (a-b) (a+b) ul=p (a+b)a® —ab+b%)= : 5
o . C e - o3 b
e i il F Dol s ol »_:fx:}( JL:‘U'(K...:{"M
- - : . Any value of the variable which makes
Variable [nequality Equation Solution X .
th€ equation a true statement is called the:
S & ko s s Eusu 2 :§_wa}und,ué2uulg£u’-i,wvm,§qﬂl 7
Rectangle Square Parallelogram Polygon A polygen/with four equal sides is called :
= 8
7 - . o5 4 _
D e | 6oneen | 62D Ped A -6
(x : Factorization of x*—16 is :
g2 75 45 g I‘LV}T,}.J{‘ﬂ‘S,djﬁJeCJ‘/Q[ ?
) Area of a square with side * 8" is :
equation in one variable is of degree :
3 2 1 0 : ﬁ;.?ﬁg;)(d}/?ii»» .
A quadratic polynomial is of degree :
© = Pk K 15qrs o Gpqr |
[5pars 3pqrs 3pqr 3qr R qrs 421 0pq
H.C.F. of 6pgrand 15 grsis :
13
.y CearfE A1
oy gy | gy (1) | e
Solutionsetof x" =1 1is:
(a-h) a® b’ (a+b) a’+h? a' —=3ab(a-b)-b> = 14
c&i‘/ be/ A iy :‘4_&/’//"%.[--_0':-_-'JGL,((}U;JU)JKJJIUJJ@ 13
Determinant Columns Rows Order The r.mmber Of. rows a.nd columns in a
matrix determine its :
270-020-11-(Objective Type)- 12000 (7268)
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(PART -1 Jst2 )

12 2. Write short answers to any SIX (6) questions : :

(1) Define unlike surd.

-ZpP (=)
(i1) If P(x)=4x"+3x> — 5x+1 . then find p(-1)
(i) Solve : (2x +3y)°
(iv)  Factorize : X —Tx+12
(v) Define quadratic potynomial.
(vi) Factorize : 423

& ez L ey (6){:'(51( 2
Sy S et (1)
Jr Py=dxt+ 3~ sx+1 1 G

2= (i)
ZGF Gv)

_éuél/'d/gj/?fduu (v)
2 (vi)

(vil) Write the relationship between H.C.F. and L.C.M. -z«z@“uy»&_};uwumﬁ’w (viD)

(viii) Find L.C.M. by factorization. ;= 6pgr ,15grs

(ix)  Find the square root :

4957+ 112xy + 64y°

:épi”ds hdbrtesSsF 2o (viii)

12 3. Write short answers to any SIX (6) questions : : & epiz Z L =iy (6){:;-(3:( 3
(1) Solve : ZAENY &g @
x+6 !

(i1) Define absolute value. gy Sed Sadi(h
(ii) Solve : 3x+4]=9 S G
(1v) Solve : 2x% =3x s 2 Gv)
(v)  Write the formula for quadratic equation. el KeenleBos (V)

(vi) Factorize : 2x% +15x-8=0 ZGE (Vi)
(vii) Define scalar matrix with example. ety SN A (vi)
(Vi) Multiply - { > _ﬂ H ﬂ L Eeb 2l (viid)

(ix) Define non-singular matrix with example. e niEE sy S F (%)

12 4. Write short answers to any SIX (6) questions : : af.:.u,e /‘."! L iy (6){::_&!( 4

(1) Find the value of * x * in given triangle :

ek ndd x gelbfs D

(i1} Define minor segment and major segment.

(Q-IJJ} )

-Zi:uéf;d/a/{urijﬂuﬂ."iu; $1))
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(2)
4. (ii) Define sector and draw figure. et oy U(ﬂ? (i) -4
(iv) Define tangent of the circle. -.’{.f_i//"-JJV Lolty (iv)
(v) Define incentre, Ay Sl (W)

a=5c¢=13,b=? :wlsc i uenlsia,b ﬁ'éf}wé‘lﬁ:bj@ﬁ‘:«ﬂ/i;ﬁ’g (vi)
(vi) Find the third side of right triangle with legs 2 and b and hypotenuse ¢ :a=5,¢c=13,b=72
-éfk’};l{.f_{_i_,l}f@—" 14 268, (viD)
(vil) The diagonal of square is 14 cm. Find its area.
(=1,3),(=2,-1) &+ Lebpr sl b8 55 (viid)
(vil) Find the distance between two points : (~-1,3),(-2,-1)

(ix) Define non-collinear points, Ay e WA 2 (x)
(PART -l /52 )
Note : Attempt any THREE questions . -ég[,l:‘.’[..:alllrcf c-_(j:( T
4 wxy=10¢ x+y=7 ﬁéf}i’”.;gd/x3+y3 (h 5
5. (a) Findthe valueof ¥4 )3 if x+y=7, xy=10
4 e BT 0 Py =sxt 11443 53 1 ()
(b) If P(x)=5x" +14x* + 3x% 283 is divided by x — 1, find the remainder.
4 6. (a) Find the H.C.F. by division method/; :?f_-((:l’“’ (Eil:lp:_.’éffﬁffﬁ (n) .6
x4 Tx? 124 ; % - 2% -15x
4 (b) Solve : x-4_x-3_x%P (L)
8 5 4 i ’
4 7. (@) Solve by completing the square method : :éf&.‘é)’ﬁd‘/dﬁfu (") .7
X +x-1=0
4 -g;;,w,,.ﬁufu,mz{}t&f 53¢ .7 ebaB el (L)
(b) Draw an equilateral triangle each whose side is 5.3 cm. Draw its medians.
4 (A+BY =A'+B Sk B:[ i “62] »IA:[ f ﬂ/ﬂ () 8

2 4 3 -2
8. (a) Ifol:1 5} and B=[4 6Jthenverifythat (A+B)Y =4"+B" .

4 (b) Solve by the matrix inversion method : :"_i—(fc,.‘@)’d:__f'{?uﬁ’ ()
4x +5y=0
2x + 5y =1
4 5,12, 13 Wil Ree ke (h) 9
9. (&) Find the area of triangle whose sides are 5, 12, 13
4 AU EE NG C(=6,-7) w B (2,7)  A(6,1) wSEer (L)

(b) Show that the points A(6,1),B(2,7)and C(-6,- 7 )are vertices
of right triangle.
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